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A 1T (IGKER= A A R

LY LY Y LY ZY)E Y | O A LY LY LU LY LY
[l L[ [ [ [ HEEEREEREEER

1 4.00 | 1.500 0. 400 0. 300 2.200 1.800 | 3
HEEEREEEEEEE HEEEREEREEER
HEEEREEEEEEE HEEEREEREEER
HEEEREEEEEEE HEEEREEREEER
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
LT PP T Tl s HEEEEEEEEEEN

it 2.200 1. 800 3




FKEMRELE (HLyr L1 LX) )4 FRZE (HPPE7 " V—vxy M [EAE ¢ 75) fa KA
ZE TR EE %
I —— Y (LB 98 &5/ (Fism), TR OEE) S G T Y (LB &5/ (FRie i), FECEFR) S BT
A 1T (IGKER= AT A R
LY LY Y LY ZY)E Y | O A o LY LU LY LY
elal [ [T 1] ] HEEEREEREEER
1 5.00 | 2.000 2.000 3.000 1
HEEEREEEEEEE HEEEREEREEER
HEEEREEEEEEE HEEEREEREEER
HEEEREEEEEEE HEEEREEREEER
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
LT PP T Tl s HEEEEEEEEEEN
it 2. 000 3. 000 1




(R L H8)

2D 2N RS AL
HI-TS [iR7IEH

v = — VERA T ¢ 50 m 12.890 | 0.960 11.930

v=— DI R

G T ¢ 50 A 13 13

v =— L TS TILR X2 R R X2

T T ® 50 A 16 2 18

MY s A v b

RREFT 675 [E50 4 4

77U VHKTEL 675 u] 8 8

fENFpaR iE T 675 B 4 4

HE) PR E T H=0. 60m & AT 4 4
HI-TS

HEoRT-7 T $ 75 m 12. 890 12. 890
HI-TS

R - 0175 m 12. 890 12. 890
HI-TS

T K FER T 0175 m 12. 890 12. 890




. T TEHEE0)  (HPPE ¢ 75)
BlKEAMBRBTE (HE,r L1 TX)
AL EHE%
2 2N RS HLAT R X
o pien
ST T As 15emPL T m | L=[1240.68 = | 1240.68
Sl RS A T As m? | A= 341.19 = 341.19
ARSI 1. MY/ B | R | IR | R
FE AV IEEN - L5y t G= |1240.68 | 240.00 | 1.80 0.85 1.10 = 8.70
SRRy T As m® | V=] 17.37 = 17.37
EhERRALSY T Co m?
FE AR 1 T m® | V= 255.33 = 255. 33
N m®
MR T 17 m® | V=] 95.37 = 95. 37
MR T et m® | V= 156.89 = 156. 89
LR T i m?
AT m’® | V= 255.33 = 255. 33
AT m?
RiEIRT FAEBRIEEAS (13)  t=3cm m?
R8I T FESRIEAs(13)  t=5em m? | A= 341.19 = 341. 19
% B S AR H=2. 00m
+HT XARKE 1B m




TRHEEQ HPPE ¢ 75
BB T (2, 1T K) L LFFE Q) (PPE ¢ 75)

SRR T S RRURB AR T SRR Sy T BAR A 1 YNVEE LT (1)) HET (Fef) | ELGEHALD | BELasT AT A IR LT TR
=k f - NPy 2 = Ny Kt L NPy 2 = Ny Kt L Ry St L Ry = NPT S = W e weE | ong e = S = Ry = R "
&5 A LTaER HAE | e | HAE| KE | HEME| K& | B KE | FiE| HE | BVE|] e |(HEMER| HBE |HENE| e |(HE| K& | HAE O\ HNiE | HRE | B HE

(m/m) (m) (*/m) | (o) (m’/m) () ’/m) | @) (w’*/m) () '/m) | ) (’/m) () ’/m) | @) (w’/m) () (m*/m) () (n®/m) () (m/m) (m)
H=0. 60m t=0. 05
Al-1 i As 595.12 | 2.000 |1190.24 | 0.550 327.32 | 0.028 16.66 | 0.407 242. 21 0. 154 91.65 | 0.248 147.59 0. 407 242.21 0. 550 327.32
H=0. 90m t=0. 05
Al-2 fiiE  As 9.42 | 2.000 18.84 | 0.550 5.18 | 0.028 0.26 | 0.572 5.39 0. 154 1.45 1 0.413 3.89 0.572 5.39 0. 550 5.18
H=1. 20m t=0. 05
A1-3 i As 4.51 | 2.000 9.02 | 0.550 2.48 |0.028 0.13 | 0.737 3.32 0. 154 0.69 |0.578 2.61 0. 737 3.32 0. 550 2.48
H=0. 60m t=0. 05
B1-1 il As 11.29 | 2. 000 22.58 | 0.550 6.21 | 0.028 0.32 | 0.391 4. 41 0. 140 1.58 | 0.248 2.80 0.391 4.41 0. 550 6.21
B Co Co Co t=0. 03
;
620. 34 |As 1240.68 |As 341.19 |As 17.37 255. 33 95. 37 156. 89 255.33 t=0. 05| 341.19




T TR

fmk

=
=

Bl KEARE LF (¥ sy L1 1LX)
25 HE R AT
F I R - R BT FHAER AR
Kok o
H=0. 60m 15 2% 3% 4% 5% 675 45
Al-1 HiE  As HPPE 675 191.91 | 126.00 | 127.98 | 123.78 5.53 6.96 6.99
8%
m 5.97 595. 12
H=0. 90m 6% 5 8%
Al-2 HiE  As m 3. 14 3.14 3.14 9.42
H=1. 20m 15
A1-3 HiiE  As m 4.51 4.51
H=0. 60m 221 [ 22 27 T N2/}
Bl-1 Wil As HI-TS ¢ 50 m 4.24 2.45 2.25 2.35 11.29




NS, -
ROKE TS (e £1TK) R ELEASE (PPE4TS)
T TSEE
. — o B FHMR T#Y PHIE | FTEATE | R HAITE | AR AN | A D HREITR | Bl s | S TEE XN R R IRE PR G R | Rea R
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
Al-1 i As HPPE 75 0. 090 0. 600 0. 550 0.790 0. 740 0. 050 0. 100 0. 290 0. 006 0. 050 0. 450
1=0. 90m
Al-2 i As HPPE 75 0. 090 0. 900 0. 550 1.090 1. 040 0. 050 0. 100 0. 290 0. 006 0. 050 0. 750
H=1. 20m
AL-3 i As HPPE 75 0. 090 1. 200 0. 550 1.390 1. 340 0. 050 0. 100 0. 290 0. 006 0. 050 1. 050
SCER LS A 4 bR
¥4 0 o+ T E
5 -— i (e 40 AR SHEEUIMT | ARAERRRY | SRR | MERRAEHD | AJJIRE | BRES (D) | HREE (W) | MR GRAL) | ATy T 5= 1H +THET
(mm) (m) (m) (m) (m%) (") (m*) () (m®) (") () (") (m®) (m®) (m)
H=0. 60m Il
Al-1 i As HPPE 75 0. 600 0. 550 2.000 0. 550 0.028 0. 407 0. 154 0. 248 0. 407 0. 550
H=0. 90m Il
A1-2 HiE  As HPPE 75 0. 900 0. 550 2.000 0. 550 0.028 0.572 0. 154 0.413 0.572 0. 550
H=1. 20m Al
A1-3 i As HPPE 75 1. 200 0. 550 2.000 0. 550 0.028 0. 737 0. 154 0.578 0. 737 0. 550




RS ol e
BUKE AR TF (s E1TIK) RALLLARE (HITS 050
T T HER
5 — o (2R EoME +#kb HHIE | ETEANE| SRR FRHIE | BERRAR IR | AR EE | Bl AR | B TED)E e, EPERR AR IR BARIE | W TR | AR
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
B1-1 i As | HI-TS 50 0. 060 0. 600 0.550 0.760 0.710 0. 050 0.100 0. 260 0.003 0. 050 0.450
B A IR A 2R
Im% Y o+ THE
5 -— i (e R i H g SHEEUIMT | ARAERRRY | SRR | MERRAEHD | AJJIRE | BRES (D) | HREE (W) | MR GRAL) | ATy T 5= 1H T
(mm) (m) (m) (m) (m®) (") (m*) () (m®) (") () (") (n®) () (m)
H=0. 60m Al
B1-1 oM As | HI-TS 50 0. 600 0. 550 2. 000 0.550 0.028 0.391 0. 140 0.248 0. 391 0. 550
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NN SR =2 (7N Jaran
N . MERTREE  (RKE)
BlKEMRE LH (HEy R1TX)
EAL ] AL
& Fr IZ/NE RS B | AR Ev FtE -
Fik JER ok MR
PP HIVP
VSN IE 2fgE
INES NPV ¢ 20 m L=| 57.60 = 57. 60 57. 600
ST HI-TS
£ (7 ¢ 20 m L= 92. 90 = 92. 90 92. 900
ST HI-TS
INES ISPV ¢ 50 m L= 12.20 = 12.20 12. 200
HPPEA
VINZRRA YN & ¢ 75X ¢ 20 i N= 17 33 = 50
HPPEA
I8 Aty kAR ¢ 75X ¢ 50 il N= 1 = 1
PESY IEFY )y b $20 i N= 17 = 17
[ty hves ¢ 20 il N= 33 = 33
&y bves ¢ 50 il N= 1 = 1
HIF ¥ v 7 $20 il N= 33 = 33
HIY 4w O $20 il N= 33 = 33
HIY 47 O ¢ 50 1 N= 2 = 2
PEA-}-H
60° v AT ¢ 20 il N= 16 = 16
PVY" 3/} 20X 613 1 N= 1 = 1
AR ARG AR | ¢ 20 il N= 1 = 1
ARG LA | 0 20X ¢ 13 il N= 15 = 15
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LR IZ/NE RS B | AR FHAER FtE
Fik JER ok MR
PP HIVP
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¢ 20
BRI )7 FRPECHIR AT, T #H N= 16 16
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FlKEMBRBTE HEy L1ITX)
EAL ] PG
2 FR 2N RS HAL | B R Ev 5 FtE -
o JER o iE

EF FraZEis ¢ 75X 5000 A 15.000 | N= 5 5 25. 000
EF A2
)% R A & 75X 5000 m [5.000 | L= 2. 00 2 2. 000

EN N= 1 1
EF Y% v b ® 75 i N= 2 2
EF % v~ ¢ 75 @ ]0.090 | N= 1 1 0. 090
PE ffiL O 7.5K
Y7 b=t | ¢ 75 . [0.780 | N= 1 1 0. 780

¢ 75

fHEIFpAR > 7 R H=0. 60m il N= 1 1
BERRTT W=50mm m L= 28.120 28. 120
PR Y~ W=150mm BT m L= 28.120 28.120
H~HE m L= 0.25 0.25
R E HPPE ¢ 75 m 28.120 28. 120
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25 S i P
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o JER o iE
rhaKE

EF sz ¢ 75 X 5000 A [5.000 | N= 5 5 25. 000
EF sz
O ¢ 75X 5000 m [5.000 | L= 2 2 2. 000

EN N= 1 1
EF V4 v b 675 i N= 2 2
EF %% v~ ¢ 75 @ ]0.090 | N= 1 1 0. 090
PE #fiL AfF 7.5K
V7 hy— AR | 675 £ ]0.780 | N= 1 1 0. 780

¢ 75
IR R Y 7 2 H=0. 60m il N= 1 1
HFRRT-T W=50mm m L=28.120 28.120
R AR~ b W=150mm BT m L=28.120 28.120
1 1

H~HE m L=| 0.25 0.25
I = HPPE ¢ 75 m L =28.120 28.120




FKEMRELE (HLyr L1 LX) )4 FRZE (HPPE7 " V—vxy M [EAE ¢ 75) fa KA
ZE TR EE %
I —— Y (LB 98 &5/ (Fism), TR OEE) S G T Y (LB &5/ (FRie i), FECEFR) S BT
A 1T (IGKER= AT A R
LY LY Y LY ZY)E Y | O A o LY LU LY LY
elal [ [T 1] ] HEEEREEREEER
1 5.00 | 2.000 2.000 3.000 1
HEEEREEEEEEE HEEEREEREEER
HEEEREEEEEEE HEEEREEREEER
HEEEREEEEEEE HEEEREEREEER
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HEEEEEEEEEEE HREEREEEEEEE
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
HREEEEEEEEEN HREEEEEEEEEN
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Bk EMmm R LE (HEr L1 LK)

& Fr 2N RS £tiva FHE -
e Kk
HPPEA
ISy KIREGA T b 75X ¢ 20 550 17 33 50
HPPEA

P oy R ER LA T ¢ 75X ¢ 50 & 1 1

)z g R T $20 m 57. 60 .60

U eV ERR T $20 m 92. 90 2.90

t =V E R T ¢ 50 m 12. 20 2.20
IS PL SIS V7 ARNIVA N R ARV VI )

PERET T ¢ 20 u] 17 16 2 35
Vi kX2

HITSHEF T ¢ 20 A 66 66
Yy kX2

HITSHEF T ¢ 50 A 4 4

Fyy7”

HITSHEF T ¢ 20 A 33 33

1K ERUAE T ¢ 20 T 1 1

Ak RR BT T 20X ¢ 13 T 15 15

Ak RR BT T ¢ 40 T 1 1

HKERE R E L ¢ 20 T 16 16




Bk EMmm R LE (HEr L1 LK)

Gka7K%E ¢ 75)

2D Tk - ~hik AL
B g
R=IE

RYZF L UFPRATL |75 m 28.120 | 0.780 27. 340

R =F L VP

Yl L ¢ 75 A 1 1

RYZF L jis] LR E R

EFfik= T 675 fEET 5 1 6

RYxzFL & 20 AN

EFff T T ® 75 [E50 2 2

V7 v — AL

HEFr Rk E L 0175 s 1 1

(AR-IETEC H=0. 60m [E50 1 1
HPPE

HEoRT-7 T $ 75 m 28. 120 28.120
HPPE

Ry~ L 675 m 28.120 28.120
HPPE

B 675 m 28.120 28.120




BlKEAMRBETLE (HEyr R1TX)

25 i S
2 ek - <Hik HAL HECE G R
Ee %
& 20~ ¢ 50 ¢ 75

EhiZetnwr T As 15emEA T m | L=]270.20 | 56.24 = 326. 44

EhiZetnmwr T Co 15emEA T m | L=| 18.00 = 18. 00

Sl RSB As m? | A=| 69.91 | 15.47 = 85. 38

i RO A T Co m? |A=| 2.70 = 2.70

[ U As m® | V= 3.55 0.79 = 4.34

SRS T Co m® | V=| 0.27 = 0. 27

LSRN WA A | ER | R

FEAEIGVEIER; - A5y t G= | 326.44 |240.00 | 1.80 0.85 1. 10 = 2.29

B A 1) T m® | V= 49.47 | 11.44 = 60. 91

FERRIR R T 1 m® | V=| 16.45 4.33 = 20.78

FERRIR R T el m® | V=| 29.14 6.97 = 36. 11

BRI R T W+ m® | V=| 3.45 = 3.45

A ALy T m® | V=] 46.08 | 11.44 = 57.52

T m*

A IH T FAESRLEAs (13) t=3cm m?

RAEIHT FAEBRIEEAs (13) t=5em m? | A=]| 69.91 | 15.47 = 85. 38

IR T EZR0) t=10cm V=| 0.27 = 0.27




. A TIEREE Q) REAKE)
Bl KEMRBTLE (FEyr R1ITK)
SRR T S RRURB AR T SRR Sy T BAR A 1 YNVEE M T (1) MR T () | HEER T G 1) Ay T IR T
b fi - NS . et L Ry o Ny et L Ry . Ny st 1 RYyT . Ny . P et L
&5 A LTaER WLALRE | g | WAL HRE B | WAL | B | BMACEE | S | BAMArER | R | BAMACEE | SR | B | SR | B | KE AR | B
(m/m) (m) /m) | (%) @) [@m @ | @] @) | e @) | @] @) | @ @) | e | @) */m) | (%)
H=0. 60m
Bl-1 i As 117.50 | 2.000 235. 00 . 550 64. 63 3.29 |0.391 45.94 0.140 16.45 | 0. 248 29. 14 0. 391 45. 94 0. 550 64. 63
#HARDO EWNAs 17.60 | 2.000 35.20 300 5.28 0.26 | 0.075 1.32 0.075 1.32 ] 0.003 0.05 0. 300 5.28
LY\ ENCo 9.00 | 2.000 18. 00 . 300 2.70 0.27 | 0.060 0.54 0. 057 0.51 | 0.003 0.03 0. 300 2.70
LEVNG); FENGr 18. 60 0. 090 1.67 0. 087 1.62 | 0.003 0. 06
H=0. 60m
Al-1 il As 28.12 | 2.000 56. 24 550 15. 47 0.79 | 0.407 11.44 0. 154 4.33 |0.248 6.97 0. 407 11. 44 0. 550 15. 47
Co 18. 00 2.70 0.27 Co 2.70
i 620~¢50| 270.20 |620~¢50 69. 91 3.55 [o20~050 49.47 620~ ¢ 50 16.45 |¢20~¢50 29. 14 |¢20~¢50 3.45 |920~¢50 46. 08 20~ ¢ 50 69. 91
190.82 | 75 56.24 | ¢ 75 15.47 0.79 |75 11. 44 & 75 4.33 | ¢ 75 6.97 | ¢ 75 ¢ 75 11. 44 b 75 15. 47




) TTHERFEE (B

BB TE ey B1TK) SERASE (e
75 R

& [zl TR - R BANL HE 5

PP HIVP HPPE
H=0. 60m
B1-1 HiE  As PE ¢ 50 m | L= 41.10 | 76.40 =
EE¥NO) FEHNAs PE ¢ 50 m | L= 5.40 | 12.20 =
EEVNO) £HNCo PE ¢ 50 m | L= 9.00 =
FE¥NE) EWNGr PE ¢ 50 m | L= 2.10 | 16.50 =
H=0. 60m

Al-1 M As HPPE ¢ 75 L= 28.12 =




N ™ - p o
ROKEATRE LH (i 1 T1%) RO LHEE  GerE)
T ER
%5 —-— o B MR SR ) WHIE | EEATE| RIBE TEHITR | EARIREITR | A IREIGE | BUOLAHIEE | HTEDE | R e | EIRE | BRI | WA R PeaiR
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
B1-1 il As PE 50 0. 060 0. 600 0. 550 0. 760 0.710 0. 050 0. 100 0. 260 0. 003 0. 050 0. 450
#ik® EPMAs PE 50 0. 060 0. 240 0. 300 0. 300 0. 250 0. 050 0. 003 0. 050 0. 250
#k@ EMCo PE 50 0. 060 0. 240 0. 300 0. 300 0. 200 0.100 0. 003 0.100 0. 200
¥/RE) EWNGr PE 50 0. 060 0. 240 0. 300 0. 300 0.300 0. 003 0. 300
H=0. 60m
Al-1 il As HPPE 75 0. 090 0. 600 0. 550 0. 790 0. 740 0. 050 0. 100 0. 290 0. 006 0. 050 0. 450
HLIL AL 2 PRI
Im% Y o+ THE
=5 a5 . R i) PEHINE | SO | SRRV SRRy | BERERED | ADHRED | LR () | LR (W) [BEGE D) | ALY BART UGAE THT
(mm) (m) (m) (m) () (m’) (m’) (m’) () (m’) () () (®) () (m)
H=0. 60m Al
B1-1 il As PE 50 0. 600 0. 550 2. 000 0. 550 0.028 0. 391 0. 140 0.248 0. 391 0.550
Il
(YN0 EMAs PE 50 0. 240 0. 300 2. 000 0. 300 0.015 0.075 -0. 003 0.075 0. 300
Il
EVIN0) “EMCo PE 50 0. 240 0. 300 2. 000 0. 300 0. 030 0. 060 0. 057 0.003 0. 300
Il
#HBAR® EWNGr PE 50 0. 240 0. 300 0. 090 0. 087 0. 003
H=0. 60m ]
Al-1 il As HPPE 75 0. 600 0. 550 2. 000 0. 550 0. 028 0. 407 0. 154 0. 248 0. 407 0. 550




o K B B L & (PP)

PEA=}-H fot: i gk he N
el 1 A 43k PESY Ik F Vo b iy 60° F° PE9O° Zhi’ PEFFY i VY v} {ﬁg%ﬁ@\ R 7| feemrientn ;%k %é + T Wi E
- R e VAN m, i L2 AR ney Py
5 4 1:DCI D‘M% A4 [ RAD [ #KQ | KD
[BE2 P (mm) mE | BN | BN | EA
2:VP X X X X X As As Co | WF]
3:PP 650X | ¢ 25% | ¢ 20X ¢ 20 ¢ 20
$20] $25| $30] $640] $50] $20| $625| 30| $640| ¢650] 6 20| $25] $30] $40| 650 $20| $25] ¢20] 6 20| $620| $30| 6 40| $650] $30| $40| $650] 20 | ¢25 | $30 | 640 | 50 [xo13] $20] $25| $30]| $40| 650] $620]| $25|x¢13 625 $30] $40| ¢50 $iEF | H=0.6 | H=0.3| H=0.3 | H=0. 3
1 $13] 3 75 1 1 1 4.4 1 1 A 4.4 ] 3.8 0.6
2 13| 3 75 1 1 1 4.0 1 1 A 4.0 | 3.8 0.2
3 613] 3 75 1 1 1 4.7 1 1 A 4.7 ] 3.8 0.9
4 613] 3 75 1 1 1 4.3 1 1 A 4.3 | 3.8 0.5
: 613| 3 75 1 1 1 5.1 1 1 A 5.1 | 4.4 0.7
613] 3 75 1 1 1 5.1 1 1 A 5.1 | 4.1 1.0
613| 3 75 1 1 1 4.8 1 1 A 4.8 | 4.1 0.7
$20] 3 75 1 1 1 5.4 1 1 A 5.4 5.4
613| 3 75 1 1 1 2.2 1 1 A 2.2 | 1.9 0.3
613] 3 75 1 1 1 2.4 1 1 A 2.4 1.9 0.5
613| 3 75 1 1 1 2.8 1 1 A 2.8 1.9 0.9
613] 3 75 1 1 1 2.1 1 1 A 2.1 ] 1.5 0.6
613| 3 75 1 1 1 2.8 1 1 A 2.8 1.5 1.3
613] 3 75 1 1 1 1.9 1 1 A .9 1.5 0.4
613| 3 75 1 1 1 3.4 1 1 A 3.4 1.5 1.9
613] 3 75 1 1 1 1.4 1 1 A 1.4 0.8 0.6
REA 613| 3 75 1 1 0.8 1 B 0.8 0.8 RE
[oxis 17 17 16 57.6 i i 15 16 57.6 [41.1 [ 5.4 ] 9.0 [ 2.1




KB B L FMI-TS)

&
Or=
Qg oo w|w|wv|w|v v > o] wv|wv|v v [t
E |Spa Tlsls I ] R P sls|s|slsls|s|s <
= jgW=s I =
B =
H ) o
Q
gt L
€., = = =
mﬁtA. = ~ o
@ AL — —
zE= Q=E A= o3| o3 |3 | = = | =] S = < < S S S S S S| sl S s S| e <
! i | o] | e | e <] < <F| < <F| e | i ] i <[ == =2 =] = i <
I.I«Z.—Iwc W..M_LZ ™ ™ ™ < < AN N[N N[N nu S
R
prpa) m|m| @il e |m|ma|m|ma|ma|a|a )
SE
=
= — —
4 S
s
mR e
T 2
. S
=gz
=
~F =
= I
S
o ~ ~
et . .
E & o
=
<
i 2
)~
=& «
|~ <
N
=
mnﬂu o o o olo|oo|o|o ~ ~ [t Ll ar] [aclfap] fasl ar] [ap] fap] Ho (=2}
ol | | e | i e | | < <F | | < < e | e e e | | | < < | < <R < S A = = = = %
N
N
—
= IS Y Y Y Y Y ) R B ) ) )
N
A
N
s
=
# X
= S 4
= 3 o
- 2 - .
N k=
A
o
N S Y Y Y Y Y 2
— N e
=
ey
=
=
~
: 2
il
10
™
o
™~
=
[ts] — —
=
=
- S
®
= 2
P s
P
# o
™
IS Y Y Y Y Y DY Y R Y Y Y Y 2
=
o — —|
<
«
fal ©
% S
Z
R &
S *©
", L)
jrig I
=]
xQ | | == =~ — | = == === n\
|| ||| | ||| w|wv|wv|v|wv|wv|wv] |
MG NMSIEEE [ It I ] e ] ] ] e =
Pan 28
& m|m|e|m|em|em m|m|m|m|m|om|m|;m ™
o
=
=
S|
|
iz
<
—|eafen|< N e o e O R A = et o A A S O P P B P
<|<|<|< =|=|=|Z| 2| 2|2 || || 2| 2|a|d| 2| Al B B Bl o Clo|C|o|o|o| |«




